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1 2 3 4 5 FTEEBREE ENBRESE 10 11
IEE EEALEE | BRUREEE | = oz | BEFEIE | HAIRE 61  H |71FZEORE |84 M |[oFzEorE |E £ BF| B E =X
ZLWESEIR ) BHE (3+10) (4+5+6+8)| @y (7EET) | E2H=-BOHK (9%EL) | E22H-EOH (2—3) (3+2)%
[Zﬁ?u.lﬁﬂaaﬁf%lz ] 129,823 129,444 69,219 50,734 17,943 530 12 60,225 53.47
S 138,615 138,338 71,181 49,962 20,654 554 11 67,157 51.45
&t 268,438 267,782 140,400 100,696 38,597 1,084 23 127,382 52.43
1 2 3 4 5 TEERERE ENBESE 10 11
IEE B ALS | BrLUpEEE | = = | BEWCHTE | HENBRE 618 #H |717BEORE 8% H |[oFmEoxz |E # BH| B E=E
EEALE EHRE (3+10) (4+5+6) | gpmany (7EET) | £BUT-EOR (9%ET) | EBIEBEOHR (2—3) (3+2)%
5 & » B 129,765 129,386 69,207 50,734 17,943 530 60,179 53.49
& 138,538 138,261 71,169 49,962 20,653 554 67,092 51.47
&t 268,303 267,647 140,376 100,696 38,596 1,084 127,271 52.45
1 2 3 4 5 TEEREE ENBESE 10 11
IEE N REALE| BPUAEEE | = 2 | BEFHEIE | HEIRE 6k % |7FzEoRE (s & |[sFzEorx |ZE & B| B =X
ENEZEA BRE (34+10) (4+5+6+8)| mmamy (7%8) | ERHE=EOR (9%&D) | &RH-EOH (2—3) (3+2)%
LEEHD |=z 58 58 12 12 46 20.69
S 77 77 12 1 11 65 15.58
&t 135 135 24 1 23 111 17.78




